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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each. Section - B comprises of 8 questions of
2 marks each. Section - C comprises of 10 questions of 3 marks each and Section - D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 are of 1 mark each.

If p, q are two prime numbers, then LCM(p, q) is :
(A) 1 B) P © q (D) pq

The condition so that the pair of linear equations kx +3y +1=0, 2x + y + 3 =0 has exactly
one solution.

(A) k=6 (B) k=6 (C) k=3 (D) k=3

If d=HCF (48, 72), the value of d is :
(A) 24 (B) 48 < 12 (D) 72

In the given figure (1), ZACB =90°, «BDC =90°, CD=4cm, BD=3cm, AC=12cm.
cosA — sin A is equal to

A

If cos® + cos2@ = 1, the value of (sin20 + sin?d) is

(A) 0 B) 1 © -1

If AABC~ARQP, LA = 80°, £B =60°, the value of £P is
(A) 60° (B) Q) 40°
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10.

1
If sec 6 —tanf = 3 the value of (sec 0 +tan) is :

(A) 1 (B) 2 ) 3 (D) 4

If one of the zeroes of the quadratic polynomial (k—1)x2+kx+1 is —3, then the value
of kis

The measures of central tendency which can’t be found graphically is :
(A) mean (B) median (C) mode (D) none of these

In fig.2, if D is mid-point of BC, the value of tan x° is

tan y°

A

SECTION - B

Question numbers 11 to 18 carry 2 marks each.

11.

12.

Find the median class and the modal class for the following distribuion.

C.I [135-140 | 140-145 [ 145-150 | 150-155 | 155-160 | 160-165
f 4 7 18 11 6 5

Write the following distribution as more than type cumulative frequency distribution:

ClI 50-55 | 55-60 60-65 65-70 70-75 75-80
frequency 2 6 8 14 15 5
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Simplify : (sec 6 +tan 0) (1 —sin 0).
In fig. 3, ABLBC, DELAC and GFLBC. Prove that AADE~AGCF
A

D

F
Fig. 3

In a quadrilateral ABCD, ZB=90°. If AD?=AB?+BC?+CD?
prove that ZACD=90°.

«, B are the roots of the quadratic polynomial p (x)=x2— (k+6)x+2 (2k—1).

1
Find the value of k, ifa+ 5¢ B.

Solve 37x+43y=123, 43x+37y =117.
OR

6_ 8
+— =6, 3x—— =5.
Ty Ty

In the adjoining factor tree, find the numbers m, n :

m
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SECTION - C

Question numbers 19 to 28 carry 3 marks each.

19. C

Fig. 4

In fig. 4, LM||AB. If AL=x—-3, AC=2x, BM=x-2, BC=2x+3, find the value of x.

Find the median of the following frequency distribution :

C.L 5-15 | 15-25 | 25-35 | 35-45 | 45-55
Frequency 2 3 5 7 4

Find the mean of the given frequency distribution table :

Class 0-10 [ 10-20 | 20-30 | 30-40 | 40-50
Frequency 3 8 10 15 7

Find the zeroes of 3v2x2+ 13x + 642 and verify the relation between the zeroes and
coefficients of the polynomial.

Show that 5+ /2 is an irrational number.
OR
Prove that /3 + /5 is irrational.

Show that 5" can’t end with the digit 2 for any natural number n.
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If A,B,C are interior angles of AABC, show that

sec2 {Ej—l = cot2 é
2 2

OR

cos(90° —0) + 1+ sin (90°—0)
1 + sin(90°—0) cos (90°—0)

Prove that : = 2cosecH

1

HmmA+m=ﬁimmA—m=J§

,0<A + B=<90°A>B,

find A and B.

The taxi charges in a city consists of a fixed charge together with the charge for the
distance covered. For a distance of 10 km, the charge paid is Rs. 105 and for a journey
of 15 km, the charge paid is Rs. 155. What are the fixed charges and the charges per
km ?

OR

The monthly incomes of A and B are in the ratio of 5 : 4 and their monthly expenditures
are in the ratio of 7 : 5. If each saves Rs. 3000 per month. Find the monthly income of
each.

Prove that the area of the equilateral triangle described on the side of a square is half
the area of the equilateral triangle described on its diagonal.

SECTION - D

Question numbers 29 to 34 carry 4 marks each.

29. Solve the following system of equations graphically and from the graph, find the points
where these lines intersect the y-axis :

x—2y=2, 3x+5y=17.

Prove the following :

In a right triangle, the square of the hypotenuse is equal to the sum of the squares of the
other two sides.

OR

If a line is drawn parallel to one side of a triangle to intersect the other two sides in
distinct points, the other two sides are divided in the same ratio. Prove it.
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Find all the zeroes of the polynomial x*—5x®+2x*+10x — 8, if two of its zeroes are

72

Prove that cot® — 1+ cosecH _ 1

cotd +1—cosech cosech —coth

OR

If tan® +sin®=m and tan® —sin® =n, show that

(mz— n? )2 = 16mn

Prove that ﬂ= secA + tanA
1 — sinA

Draw ‘less than ogive” for the following frequency distribution and hence obtain the

median.

Marks obtained
No. of students
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1.

p, q &1 AT H&IE € ALCM(p, q) & :
A) 1 B P © q (D) pq

e TRt g < EH kx+3y+1=0, 2x +y+3=0 %I 3% TH 5 oM & fod & :
(A) k=6 (B) k=6 Q) k=3 (D) k=3

Ifg d=HCF (48, 72) 79 d T A BT
(A) 24 (B) 48 Q) 12 (D) 72

smpfa (1) ®, ZACB =90°, ZBDC =90°, CD=4 4.51.,, BD=3 &.7l.,, AC=12 §.91.
cosA — sinA SER BT :

A

G cosh + cos2® = 17 (sin2 + sin%6) 1AM % :
A) 0 (B) 1 -1

AABC=ARQP, ZA = 80°, ZB =60°dl £P 1 | &1 :
(A) 60° (B) 50° (C) 40°

IS sec —tan 6= = Tl (sec 6+ tan 0) T AE T :

1
3
A) 1 (B) 2 ©)
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Ffe fgema sgue (k —1)x2 + kx +1 %1 Tk I&F —3 7 a1 k 1 914 0T :

Fr vgfa w1 wr SR gR e et S €
(A) W (B)  WIfeHehT (C) dwga®

s (2) § =fe D, BC %1 HeA fareg &1t A0 X° o7 5 2

tan y°

Qug-d

Y99 GEAT 11 € 18 9% Uaieh W9 2 3kl T &

11. 71 IRARaAr sieq st AIfedehmT o I FHU |

T oTaqet | 135-140 | 140-145 | 145-150 | 150-155 | 155-160 | 160-165
IRRAT 4 7 18 11 6 5

12. 71 9ROl sfeq ‘9 1fies YR’ 9=l SRaRal § ot |

] atqaet| 50-55 | 55-60 | 60-65 | 65-70 | 70-75
IRARAT 2 6 8 14 15
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13. WA H (sec 0+ tan 0) (1—sind).

14. T$fd-3 ¥ ABLBC, DE.LAC a1 GF L BC g &ifsi@ f AADE ~ AGCF

A
E

D

F
Shfd-3
T 9g4s ABCD H, £/B=90° af¢ AD2=AB2+BC2+CD2 & d ffg =1 ZACD=90°

o, B 5o 9gUR p (1) =22— (k+6)x+2 2k—1) & F[=F T, @ k T A @ FU

1
Ifq 0L+B:EOL .

B TS
37x+43y=123, 43x+37y =117.
ar

6 8
x= Y =6, 3x— Y =5.

1 T e 98 § m a9 n S A A1 |

m
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19. C

Fig. 4

SHfd (4) H, LM||AB. afg AL=x—-3, AC=2x, BM=x—-2, BC=2x+3 dl x % HH I
|
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it | 5-15 | 15-25 | 25-35
IRARAT 2 3 5

=1 IRERAT S T HIeA J1d R |

AT SAAA 10 - 20
IRARAT 8

3V2 22 + 13x + 642 F IFF A FHA 91 IAF F O § Trer-e HeAqq Hiferg |

TeEd for 5+ 2 U erafds e 7
M

fag #NT /3 + /5 TF g e §)
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7fg A,B,C et Iy & a1=: ®Iw )

B+C

ENIECRED sec? (T)—l = C0t2%

a"

firg i - cos(90° —0) + 1 + sin (90°—6)
"1 + sin(90°—0) cos (90° — 0)

= 2cosecH

I tan(A+B)= /3, tan(A—B)=—,0< A + B<90°, A >B
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29.

757 AR 1 TR GRT T HIST 91 TME GRT I8 [0 HioT o W y-axis P Fal W
gfrest X W T
x—2y=2, 3x+5y=17
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TGUS 1t — 543+ 222+ 10x — 8 % HHl =k T HU IS 39k A YLAF o AT _ /7 B |

ﬁ:l@ aﬂm cotd — 1+ cosecH _ 1

cotd +1—cosech cosecH — cotO

a"

2
IS tan® +sinf=m AT tand — sind =n?ﬁ§'$ﬁ'5{'a : (mz— nz) = 16mn

ag =ife ﬂ=secA + tanA
1 — sinA

=1 IReRar e | 9R01 ‘9 HY YRR R WifaT qe qiiegeht o Jd |

PIiSIED 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
faenfoai st 9= 3 4 3 3 4 7
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